
 

HỌC TẬP - LỚP 4  - TOÁN LỚP 4 

Giải bài 1 trang 100 SGK Toán 4 tiết Luyện tập 

Bài 1 (trang 100 SGK Toán 4): Viết số thích hợp vào chỗ chấm : 

530dm2 = ⋯cm2 

846000cm2 = ⋯dm2 

10km2 = ⋯m2 

13dm2 29cm2 = ⋯cm2 

300dm2 = ⋯m2 

9000000m2 = ...km2. 

Lời giải: 

530dm2 = 53000cm2 

846000cm2 = 846dm2 

10km2 = 10000000m2 

13dm2 29cm2 = 1329cm2 

300dm2 = 3m2 

9000000m2 = 9km2. 

 

https://doctailieu.com/hoc-tap-c106
https://doctailieu.com/lop-4-c154
https://doctailieu.com/toan-lop-4-c155
https://doctailieu.com/toan-lop-4-c155
https://doctailieu.com/giai-bai-1-trang-100-sgk-toan-4-tiet-luyen-tap
https://doctailieu.com/giai-bai-1-trang-100-sgk-toan-4-tiet-luyen-tap

